
L

=

1

2

,

3

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

3

,

8

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

3

,

8

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

1

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

1

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

1

m

 

Ø

2

0

0

 

0

,

5

%

L

=

5

5

m

 

Ø

2

0

0

 

0

,

5

%

L

=

6

6

m

 

Ø

2

0

0

 

0

,

5

%

L

=

6

2

,

4

m

 

Ø

2

0

0

 

0

,

5

%

ODCINEK L=6,5m

POD DROGĄ

JEST JUŻ WYKONANY

P

E

 

Ø

1

1

0

P

E

 

Ø

1

1

0

P

E

 

Ø

1

1

0

P

E

 

Ø

1

1

0

P

E

 

Ø

1

1

0


